01/07/20: use column addition to calculate amounts of money

1) £13.59 + £48.05 2) £68.60 + £27.98 3)£22.89+£9.16
4) £56.80 + £62.75 5) £123.65 + £83.06 6) £245.27 + £9.59
7) £45.94 + £99.09 8) £24.50 + £12.09 + £34.75 9) £8.65 + £312.50 + £23.97

mastery - To find missing values in decimal addition calculations
1) 34.[ 1 3) 348.[]9
+10.1.59 * -4
£48.0 £301]7.03
2) 35.1)8 4) 4[].45
+ 2 .4 + 5
£l ]3.61 £49.03
How many possibilities can you find for calculation number 4?
Can you explain how you worked systematically to avoid missing any possibilities?




02/07/20: use column subtraction to calculate amounts of money

1) £43.59 - £28.05 2) £68.41 - £27.68 3)£2283-£7.16
4) £54.11 - £42.73 5) £112.65 - £23.02 6) £280.07 - £9.55
7) £40.09 - £12.29 8) £200.75 - £14.75 9) £80.00 - £23.07

mastery - To explain mistakes using my knowledge of column subtraction

T O . f h T o .t h
3°6.0'4 3°9.'0 4
-14.06 |-1.1 8

T O .1t h
26.02
3.6 8

2 3.66 21.08 2 7.2 4

Key Vocabulary: place value column, tens, ones, tenths, hundredths, decimal point,
exchange

Greater Depth - To solve multi-step money problems

What are the missing prices?

A B c D E F 6 H

D is three times more expensive than A
H is the price of B and F added together
The price of F is £0.45 less than 6
The price of A is two fifths of B
The price of E is a quarter of £5
The price of F is ten pence less than E
The price of Cis F and E added fogether
Three fifths of B is 90p




